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Q Questions Marks |RBT| COs |
| N |
e PART A
e Ty T 213 a1 5 e | 1NN INENS § |[12]|cCo3
liy 12 | 6 | 7 | 3 |10 |11 [ iCue i
Fit a best fitting parabola of the form  y=ax”+bx+c for the data.
bl x 11 12 3 4 5 6 s |12} @
'y e, 426 5217 a1 |68 TS
Fit best fitting curve of the form y=ax" for the data. Claculate the
value of y when x=3.5
¢ A random sample of 10 boys had the following 1Q 70, 120, 110, 101, 9 13 { @M
88, 83, 95, 98, 107, 100. Does this data support the assumption of a
population mean 1Q of 100 at 5% level of significance.( foo0s =2.262
for 9 degrees of freedom).
« L. O
Dalx [1 [3 |4 [6 [8 |9 |11 [14 | g8 |L2| cCo3
fly li ]2 |4 a]s 78 (9]
" Fit a straight line of the form y=a+bx to the above data. :
bl 1 P 3 4 5 8 |L2|cCo3
y 0.5 12 4.5 E 12.5
. Fit a least geometric curve y=ax" for the data
Ac?’I‘en individuals are chosen at random from a population and their 9 L3 | CO4
. heights in inches are found to be 63, 63, 66, 67, 68, 69, 70, 70, 71, 71.
2 Test the hypothesis that mean height of the universe is 66 inches.
| K tops =2.262 for 9 degrees of freedom)
| |
PART B
3la] y, Yo _4 :2 7 9 L3 | CO4
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[The joint probability distribution of two random variables X and Y is
as follows. Compute (a) Marginal distributions of X and Y (b)E(X),

E(Y) (c) Standard deviation of X and Y (d) Coefficient correlation
between X and Y.

bSample analysis of examination results of 500 students was made. It 8
was found that 220 students failed, 170 secured 3™ class, 90 has
secured 2™ class and 20 had secured 1* class. Do these figures support
the general examination result which is in the ratio 4:3:2:1 for the
respective categories.( Xqps=7.815 for 3d.f)

L3 | CO4

cExplain the terms (i)Null hypothesis (ii)Alternate hypothesis 8
(iii)Type I and Type II errors (iv) Confidence intervals.

L3 | CA4

OR

g . |2 2] 4% s 9

1 0.1 0.2 0 0.3

2 0.2 0.1 01718
The joint probability distribution of two random variables X and Y is
as follows. Compute (a) Marginal distributions of X and Y (b) E(X),
E(Y) (c) Standard deviation of X and Y (d) Coefficient correlation
between X and Y.

L3 | CO4

s b 12 134 8

f 1122 |60 |15 2 1

Fit a Poisson distribution for following data and test the goodness of
fit given that xo.s=7.815 for 3 degrees of freedom.

L3 £.CL4

clIt is claimed that a random sample of 49 tyres has mean life of 8
15,200kms.Is the sample drawn from a population whose mean is
15,150kms whose standard deviation is 1200kms? Test significance at

0.05 level.

L3 | CO4
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